



Two contributions to the absolute-value-Hardy-Hilbert-type integral inequalities

Christophe Chesneau*

Department of Mathematics, LMNO, University of Caen-Normandie,
Caen, France.

Received: 04 Sep 2025

•

Accepted: 02 Dec 2025

•

Published Online: 31 Dec 2025

Abstract: This article presents two new Hardy-Hilbert-type integral inequalities involving the absolute value function. The first result can be viewed as an analog of a well-known inequality of this type, while the second is distinguished by its originality, incorporating the sine function into the integrand. Complete and detailed proofs are provided for both results.

Key words: Hardy-Hilbert integral inequality, absolute value function, trigonometric functions, change of variables technique.

1. Introduction

The Hardy-Hilbert integral inequality is one of the most celebrated results in mathematical analysis. Its precise formulation is given below. Let $p > 1$, $q = p/(p-1)$ such that $1/p + 1/q = 1$, and $f, g : (0, +\infty) \rightarrow (0, +\infty)$ be two (measurable) functions such that

$$\int_0^{+\infty} f^p(x) dx < +\infty, \quad \int_0^{+\infty} g^q(x) dx < +\infty.$$

Then we have

$$\int_0^{+\infty} \int_0^{+\infty} \frac{1}{x+y} f(x)g(y) dx dy \leq \frac{\pi}{\sin(\pi/p)} \left[\int_0^{+\infty} f^p(x) dx \right]^{1/p} \left[\int_0^{+\infty} g^q(x) dx \right]^{1/q}. \quad (1)$$

This inequality is known to be sharp. More details and historical developments can be found in [11, 12, 31]. The study of Hardy-Hilbert-type integral inequalities continues to stimulate research. Results concerning the two-dimensional case can be found in [1, 3, 4, 6–10, 16, 20, 24–26, 28–30], while extensions to higher dimensions can be found in [2, 5, 13–15, 17, 18, 21–23, 27, 32, 33].

For the purposes of this article, our focus is on a specific type of Hardy-Hilbert integral inequality involving absolute values, as presented in [19, Corollary 3]. It is stated formally below. Let $\lambda \in (0, 1)$, $p > 1$, $q = p/(p-1)$ and $f, g : (0, +\infty) \rightarrow (0, +\infty)$ be two functions such that

$$\int_0^{+\infty} f^p(x) x^{(1-\lambda/2)p-1} dx < +\infty, \quad \int_0^{+\infty} g^q(x) x^{(1-\lambda/2)q-1} dx < +\infty.$$

Then we have

$$\begin{aligned} & \int_0^{+\infty} \int_0^{+\infty} \frac{1}{|x-y|^\lambda} f(x)g(y)dx dy \\ & \leq 2B\left(\frac{\lambda}{2}, 1-\lambda\right) \left[\int_0^{+\infty} f^p(x)x^{(1-\lambda/2)p-1}dx \right]^{1/p} \left[\int_0^{+\infty} g^q(x)x^{(1-\lambda/2)q-1}dx \right]^{1/q}, \end{aligned} \quad (2)$$

where $B(a, b) = \int_0^1 t^{a-1}(1-t)^{b-1}dt$, $a, b > 0$, is the beta function at a and b . Compared with the classical Hardy-Hilbert integral inequality, this result exhibits a more intricate structure: the absolute value function lies at the core of the integrand, the constant factor depends on the beta function, and the norms of f and g are weighted by powers of x . On this basis, several functional generalizations and parameter-dependent extensions have been developed in [19].

In this article, we extend and complement the main results in [19]. In particular, we examine two new absolute-value-Hardy-Hilbert-type integral inequalities that are, in various ways, closely related to the inequality in Equation (2). The first inequality concerns a double integral of the form

$$\int_0^{+\infty} \int_0^{+\infty} \frac{1}{|1-xy|^\lambda} f(x)g(y)dx dy,$$

where $f, g : (0, +\infty) \rightarrow (0, +\infty)$ are functions that satisfy certain conditions of integrability. This inequality may be regarded as an analog of Equation (2), as it involves a similar integrand depending on the product xy rather than the difference $|x-y|$. The second inequality is associated with the following double integral:

$$\int_0^{\pi/2} \int_0^{\pi/2} \frac{1}{|\sin(x-y)|^\lambda} f(x)g(y)dx dy,$$

where $f, g : (0, \pi/2) \rightarrow (0, +\infty)$ are functions that satisfy certain conditions of integrability. The corresponding proof essentially relies on the inequality in Equation (2), combined with an appropriate change of variables and the use of trigonometric identities. These two results thus connect several well-known Hardy-Hilbert-type integral inequalities via common analytical techniques. This framework enables further generalizations and could form the basis for future research on weighted integral inequalities.

The rest of the article is as follows: The two main theorems are stated and proved in Sections 2 and 3, respectively. The conclusion is given in Section 4.

2. First theorem

Our first main integral inequality is presented in the theorem below.

Theorem 2.1. *Let $\lambda \in (0, 1)$, $p > 1$, $q = p/(p-1)$ and $f, g : (0, +\infty) \rightarrow (0, +\infty)$ be two functions such that*

$$\int_0^{+\infty} f^p(x)x^{(1-\lambda/2)p-1}dx < +\infty, \quad \int_0^{+\infty} g^q(x)x^{(1-\lambda/2)q-1}dx < +\infty.$$

Then we have

$$\begin{aligned} & \int_0^{+\infty} \int_0^{+\infty} \frac{1}{|1-xy|^\lambda} f(x)g(y)dx dy \\ & \leq 2B\left(\frac{\lambda}{2}, 1-\lambda\right) \left[\int_0^{+\infty} f^p(x)x^{(1-\lambda/2)p-1}dx \right]^{1/p} \left[\int_0^{+\infty} g^q(x)x^{(1-\lambda/2)q-1}dx \right]^{1/q}. \end{aligned}$$

Proof. A suitable decomposition of the integrand using the identity $1/p + 1/q = 1$ and the Hölder integral inequality give

$$\begin{aligned}
 & \int_0^{+\infty} \int_0^{+\infty} \frac{1}{|1-xy|^\lambda} f(x)g(y) dx dy \\
 &= \int_0^{+\infty} \int_0^{+\infty} \frac{y^{(\lambda/2-1)/p} x^{-(\lambda/2-1)/q}}{|1-xy|^{\lambda/p}} f(x) \times \frac{y^{-(\lambda/2-1)/p} x^{(\lambda/2-1)/q}}{|1-xy|^{\lambda/q}} g(y) dx dy \\
 &\leq \left[\int_0^{+\infty} \int_0^{+\infty} \frac{y^{\lambda/2-1} x^{-(\lambda/2-1)p/q}}{|1-xy|^\lambda} f^p(x) dx dy \right]^{1/p} \\
 &\times \left[\int_0^{+\infty} \int_0^{+\infty} \frac{y^{-(\lambda/2-1)q/p} x^{\lambda/2-1}}{|1-xy|^\lambda} g^q(y) dx dy \right]^{1/q}. \tag{3}
 \end{aligned}$$

Let us determine each of the integrals of this upper bound. By the Fubini-Tonelli integral theorem, we can write

$$\begin{aligned}
 & \int_0^{+\infty} \int_0^{+\infty} \frac{y^{\lambda/2-1} x^{-(\lambda/2-1)p/q}}{|1-xy|^\lambda} f^p(x) dx dy \\
 &= \int_0^{+\infty} f^p(x) x^{-(\lambda/2-1)p/q} \left[\int_0^{+\infty} \frac{y^{\lambda/2-1}}{|1-xy|^\lambda} dy \right] dx.
 \end{aligned}$$

Let us now focus on the central integral. Making the change of variables $t = xy$, using the Chasles integral relation, making the change of variables $t = 1/z$ and recognizing the beta function, we get

$$\begin{aligned}
 & \int_0^{+\infty} \frac{y^{\lambda/2-1}}{|1-xy|^\lambda} dy = x^{-\lambda/2} \int_0^{+\infty} \frac{(xy)^{\lambda/2-1}}{|1-xy|^\lambda} x dy = x^{-\lambda/2} \int_0^{+\infty} \frac{t^{\lambda/2-1}}{|1-t|^\lambda} dt \\
 &= x^{-\lambda/2} \left[\int_0^1 \frac{t^{\lambda/2-1}}{(1-t)^\lambda} dt + \int_1^{+\infty} \frac{t^{\lambda/2-1}}{(t-1)^\lambda} dt \right] \\
 &= x^{-\lambda/2} \left[\int_0^1 t^{\lambda/2-1} (1-t)^{(1-\lambda)-1} dt + \int_1^0 \frac{(1/z)^{\lambda/2-1}}{(1/z-1)^\lambda} \left(-\frac{1}{z^2} dz \right) \right] \\
 &= x^{-\lambda/2} \left[\int_0^1 t^{\lambda/2-1} (1-t)^{(1-\lambda)-1} dt + \int_0^1 z^{\lambda/2-1} (1-z)^{(1-\lambda)-1} dz \right] \\
 &= 2B\left(\frac{\lambda}{2}, 1-\lambda\right) x^{-\lambda/2}.
 \end{aligned}$$

Therefore, we have

$$\begin{aligned}
 & \int_0^{+\infty} \int_0^{+\infty} \frac{y^{\lambda/2-1} x^{-(\lambda/2-1)p/q}}{|1-xy|^\lambda} f^p(x) dx dy \\
 &= \int_0^{+\infty} f^p(x) x^{-(\lambda/2-1)p/q} 2B\left(\frac{\lambda}{2}, 1-\lambda\right) x^{-\lambda/2} dx \\
 &= 2B\left(\frac{\lambda}{2}, 1-\lambda\right) \int_0^{+\infty} f^p(x) x^{-(\lambda/2-1)(p-1)} x^{-\lambda/2} dx \\
 &= 2B\left(\frac{\lambda}{2}, 1-\lambda\right) \int_0^{+\infty} f^p(x) x^{(1-\lambda/2)p-1} dx. \tag{4}
 \end{aligned}$$

Similarly, we obtain

$$\begin{aligned}
 & \int_0^{+\infty} \int_0^{+\infty} \frac{y^{-(\lambda/2-1)q/p} x^{\lambda/2-1}}{|1-xy|^\lambda} g^q(y) dx dy \\
 &= \int_0^{+\infty} g^q(y) y^{-(\lambda/2-1)q/p} \left[\int_0^{+\infty} \frac{x^{\lambda/2-1}}{|1-xy|^\lambda} dx \right] dy \\
 &= 2B\left(\frac{\lambda}{2}, 1-\lambda\right) \int_0^{+\infty} g^q(y) y^{-(\lambda/2-1)(q-1)} y^{-\lambda/2} dy \\
 &= 2B\left(\frac{\lambda}{2}, 1-\lambda\right) \int_0^{+\infty} g^q(y) y^{(1-\lambda/2)q-1} dy \\
 &= 2B\left(\frac{\lambda}{2}, 1-\lambda\right) \int_0^{+\infty} g^q(x) x^{(1-\lambda/2)q-1} dx.
 \end{aligned} \tag{5}$$

It follows from Equations (3), (4) and (5), and the identity $1/p + 1/q = 1$, that

$$\begin{aligned}
 & \int_0^{+\infty} \int_0^{+\infty} \frac{1}{|1-xy|^\lambda} f(x) g(y) dx dy \\
 &\leq \left[2B\left(\frac{\lambda}{2}, 1-\lambda\right) \int_0^{+\infty} f^p(x) x^{(1-\lambda/2)p-1} dx \right]^{1/p} \\
 &\times \left[2B\left(\frac{\lambda}{2}, 1-\lambda\right) \int_0^{+\infty} g^q(x) x^{(1-\lambda/2)q-1} dx \right]^{1/q} \\
 &= 2B\left(\frac{\lambda}{2}, 1-\lambda\right) \left[\int_0^{+\infty} f^p(x) x^{(1-\lambda/2)p-1} dx \right]^{1/p} \left[\int_0^{+\infty} g^q(x) x^{(1-\lambda/2)q-1} dx \right]^{1/q}.
 \end{aligned}$$

This completes the proof. \square

The upper bound obtained here coincides with that presented in Equation (2). Consequently, Theorem 2.1 can be considered a meaningful analog of this classical result, extending its applicability to a new framework of integrands. Moreover, the proof is notable for its clarity, relying on precise analytical arguments that emphasize the underlying structure of the inequality.

3. Second theorem

Our second main integral inequality is of a more original nature, involving the sine function within the integrand. It is stated in the theorem below.

Theorem 3.1. *Let $\lambda \in (0, 1)$, $p > 1$, $q = p/(p-1)$ and $f, g : (0, \pi/2) \rightarrow (0, +\infty)$ be two functions such that*

$$\int_0^{\pi/2} f^p(x) [\sin(2x)]^{(1-\lambda/2)p-1} dx < +\infty, \quad \int_0^{\pi/2} g^q(x) [\sin(2x)]^{(1-\lambda/2)q-1} dx < +\infty.$$

Then we have

$$\begin{aligned} & \int_0^{\pi/2} \int_0^{\pi/2} \frac{1}{|\sin(x-y)|^\lambda} f(x)g(y) dx dy \\ & \leq 2^\lambda B\left(\frac{\lambda}{2}, 1-\lambda\right) \left[\int_0^{\pi/2} f^p(x) [\sin(2x)]^{(1-\lambda/2)p-1} dx \right]^{1/p} \left[\int_0^{\pi/2} g^q(x) [\sin(2x)]^{(1-\lambda/2)q-1} dx \right]^{1/q}. \end{aligned}$$

Proof. We begin by reformulating the double integral via the change of variables

$$u = \tan(x), \quad v = \tan(y).$$

Then we have $x = \arctan(u)$, $y = \arctan(v)$,

$$dx = \frac{1}{1+u^2} du, \quad dy = \frac{1}{1+v^2} dv,$$

and the limits $x = 0$ when $u = 0$, $y = 0$ when $v = 0$, $x = \pi/2$ when $u \rightarrow +\infty$ and $y = \pi/2$ when $v \rightarrow +\infty$. Furthermore, standard trigonometric formulas give

$$\begin{aligned} \sin(x-y) &= \sin(x) \cos(y) - \cos(x) \sin(y) \\ &= \frac{u}{\sqrt{1+u^2}} \times \frac{1}{\sqrt{1+v^2}} - \frac{1}{\sqrt{1+u^2}} \times \frac{v}{\sqrt{1+v^2}} \\ &= \frac{u-v}{\sqrt{1+u^2}\sqrt{1+v^2}}. \end{aligned}$$

Therefore, we get

$$\begin{aligned} & \int_0^{\pi/2} \int_0^{\pi/2} \frac{1}{|\sin(x-y)|^\lambda} f(x)g(y) dx dy \\ &= \int_0^{+\infty} \int_0^{+\infty} \frac{(1+u^2)^{\lambda/2}(1+v^2)^{\lambda/2}}{|u-v|^\lambda} f(\arctan(u))g(\arctan(v)) \left(\frac{1}{1+u^2} \times \frac{1}{1+v^2} du dv \right) \\ &= \int_0^{+\infty} \int_0^{+\infty} \frac{1}{|u-v|^\lambda} f(\arctan(u))(1+u^2)^{\lambda/2-1} g(\arctan(v))(1+v^2)^{\lambda/2-1} du dv \\ &= \int_0^{+\infty} \int_0^{+\infty} \frac{1}{|u-v|^\lambda} f_{\dagger}(u)g_{\dagger}(v) du dv, \end{aligned} \tag{6}$$

where

$$f_{\dagger}(u) = f(\arctan(u))(1+u^2)^{\lambda/2-1}, \quad g_{\dagger}(v) = g(\arctan(v))(1+v^2)^{\lambda/2-1}.$$

Applying the inequality in Equation (2) to the functions f_{\dagger} and g_{\dagger} , we obtain

$$\begin{aligned} & \int_0^{+\infty} \int_0^{+\infty} \frac{1}{|u-v|^\lambda} f_{\dagger}(u)g_{\dagger}(v) du dv \\ & \leq 2B\left(\frac{\lambda}{2}, 1-\lambda\right) \left[\int_0^{+\infty} f_{\dagger}^p(u) u^{(1-\lambda/2)p-1} du \right]^{1/p} \left[\int_0^{+\infty} g_{\dagger}^q(v) v^{(1-\lambda/2)q-1} dv \right]^{1/q}. \end{aligned} \tag{7}$$

Let us examine the first integral of the upper bound. We have

$$\begin{aligned}
 \int_0^{+\infty} f_{\dagger}^p(u) u^{(1-\lambda/2)p-1} du &= \int_0^{+\infty} f^p(\arctan(u)) u^{(1-\lambda/2)p-1} (1+u^2)^{(\lambda/2-1)p} du \\
 &= \int_0^{+\infty} f^p(\arctan(u)) u^{(1-\lambda/2)p-1} (1+u^2)^{(\lambda/2-1)p+1} \left(\frac{1}{1+u^2} du \right) \\
 &= \int_0^{+\infty} f^p(\arctan(u)) \left(\frac{u}{1+u^2} \right)^{(1-\lambda/2)p-1} \left(\frac{1}{1+u^2} du \right).
 \end{aligned}$$

We consider the change of variables $u = \tan(x)$. Then we have $x = \arctan(u)$, $dx = 1/(1+u^2)du$, $x = 0$ when $u = 0$, $x = \pi/2$ when $u \rightarrow +\infty$ and

$$\frac{u}{1+u^2} = \sin(x) \cos(x) = \frac{1}{2} \sin(2x). \quad (8)$$

Therefore, we get

$$\int_0^{+\infty} f_{\dagger}^p(u) u^{(1-\lambda/2)p-1} du = \frac{1}{2^{(1-\lambda/2)p-1}} \int_0^{\pi/2} f^p(x) [\sin(2x)]^{(1-\lambda/2)p-1} dx.$$

Similarly, but with the change of variables $v = \tan(x)$, we get

$$\begin{aligned}
 \int_0^{+\infty} g_{\dagger}^q(v) v^{(1-\lambda/2)q-1} dv &= \int_0^{+\infty} g^q(\arctan(v)) v^{(1-\lambda/2)q-1} (1+v^2)^{(\lambda/2-1)q} dv \\
 &= \int_0^{+\infty} g^q(\arctan(v)) \left(\frac{v}{1+v^2} \right)^{(1-\lambda/2)q-1} \left(\frac{1}{1+v^2} dv \right) \\
 &= \frac{1}{2^{(1-\lambda/2)q-1}} \int_0^{\pi/2} g^q(x) [\sin(2x)]^{(1-\lambda/2)q-1} dx. \quad (9)
 \end{aligned}$$

It follows from Equations (6), (7), (8) and (9), and the identity $1/p + 1/q = 1$, that

$$\begin{aligned}
 &\int_0^{\pi/2} \int_0^{\pi/2} \frac{1}{|\sin(x-y)|^\lambda} f(x) g(y) dx dy \\
 &\leq 2B\left(\frac{\lambda}{2}, 1-\lambda\right) \left[\frac{1}{2^{(1-\lambda/2)p-1}} \int_0^{\pi/2} f^p(x) [\sin(2x)]^{(1-\lambda/2)p-1} dx \right]^{1/p} \\
 &\times \left[\frac{1}{2^{(1-\lambda/2)q-1}} \int_0^{\pi/2} g^q(x) [\sin(2x)]^{(1-\lambda/2)q-1} dx \right]^{1/q} \\
 &= \frac{2}{2^{(1-\lambda/2)-1/p} 2^{(1-\lambda/2)-1/q}} B\left(\frac{\lambda}{2}, 1-\lambda\right) \left[\int_0^{\pi/2} f^p(x) [\sin(2x)]^{(1-\lambda/2)p-1} dx \right]^{1/p} \\
 &\times \left[\int_0^{\pi/2} g^q(x) [\sin(2x)]^{(1-\lambda/2)q-1} dx \right]^{1/q} \\
 &= 2^\lambda B\left(\frac{\lambda}{2}, 1-\lambda\right) \left[\int_0^{\pi/2} f^p(x) [\sin(2x)]^{(1-\lambda/2)p-1} dx \right]^{1/p} \left[\int_0^{\pi/2} g^q(x) [\sin(2x)]^{(1-\lambda/2)q-1} dx \right]^{1/q}.
 \end{aligned}$$

This completes the proof. □

The inequality in Equation (2) thus forms the basis of the proof. The argument is concise, relying on a carefully chosen change of variables and precise analytical developments. To the best of our knowledge, Theorem 3.1 represents one of the few Hardy-Hilbert-type integral inequalities in which the sine function is the main component of the integrand. This highlights a distinctive contribution to the theory.

4. Conclusion

In conclusion, we have derived two absolute-value-Hardy-Hilbert-type integral inequalities that extend the findings of [19]. They also reveal new connections between product- and trigonometric-based integrals. Furthermore, the obtained constants are sharp by construction. The methods developed offer a versatile framework for deriving additional weighted and multidimensional integral inequalities. These results suggest promising avenues for future research in functional analysis and inequality theory, as well as their applications in various fields.

Acknowledgment

The author would like to thank the reviewer and associate editor for the constructive comments.

References

- [1] Adiyasuren V, Batbold T, Krnić M. Hilbert-type inequalities involving differential operators, the best constants and applications. *Math Inequal Appl* 2015; 18: 111-124.
- [2] Adiyasuren V, Batbold T, Krnić M. Multiple Hilbert-type inequalities involving some differential operators. *Banach J Math Anal* 2016; 10: 320-337.
- [3] Azar LE. The connection between Hilbert and Hardy inequalities. *J Inequal Appl* 2013; 2013: 1-10.
- [4] Batbold T, Sawano Y. Sharp bounds for m-linear Hilbert-type operators on the weighted Morrey spaces. *Math Inequal Appl* 2017; 20: 263-283.
- [5] Bényi A, Oh CT. Best constant for certain multilinear integral operator. *J Inequal Appl* 2006; 2006: 1-12.
- [6] Chen Q, Yang BC. A survey on the study of Hilbert-type inequalities. *J Inequal Appl* 2015; 2015: 1-29.
- [7] Chesneau C. Some four-parameter trigonometric generalizations of the Hilbert integral inequality. *Asia Math* 2024; 8: 45-59.
- [8] Chesneau C. A new two-parameter optimal integral inequality of the Hardy-Hilbert type. *Asia Math* 2025; 9: 21-35.
- [9] Chesneau C. Statement and proof of a new general Hardy-Hilbert-type integral inequality theorem. *Asia Math* 2025; 9: 51-62.
- [10] Du H, Miao Y. Several new Hardy-Hilbert's inequalities. *Filomat* 2011; 25: 153-162.
- [11] Hardy GH. Note on a theorem of Hilbert concerning series of positive terms. *Proc London Math Soc* 1925; 23(2): 45-46.
- [12] Hardy GH, Littlewood JE, Polya G. *Inequalities*. Cambridge, UK: Cambridge University Press, 1934.
- [13] Hong Y. On multiple Hardy-Hilbert integral inequalities with some parameters. *J Inequal Appl* 2006; 2006: 1-11.
- [14] Huang Z, Yang BC. A multidimensional Hilbert-type integral inequality. *J Inequal Appl* 2015; 2015: 1-13.
- [15] Jian SW, Yang FZ. All-sided generalization about Hardy-Hilbert integral inequalities. *Acta Math Sinica (China)* 2001; 44: 619-626.
- [16] Li Y, Qian Y, He B. On further analogs of Hilbert's inequality. *Int J Math Math Sci* 2007; 2007: 1-6.
- [17] Sulaiman WT. On Hardy-Hilbert's integral inequality. *J Inequal Pure Appl Math* 2004; 5: 1-9.

- [18] Sulaiman WT. On three inequalities similar to Hardy-Hilbert's integral inequality. *Acta Math Univ Comenianae* 2007; 2: 273-278.
- [19] Sulaiman WT. Hardy-Hilbert's integral inequalities via homogeneous functions and some other generalizations. *Acta Comment Univ Tartu Math* 2007; 11: 23-32.
- [20] Sulaiman WT. A different type of Hardy-Hilbert's integral inequality. *AIP Conf Proc* 2008; 1046: 135-141.
- [21] Sulaiman WT. General new forms of Hardy-Hilbert's integral inequality via new ideas. *Int J Contemp Math Sci* 2008; 3: 1059-1067.
- [22] Sulaiman WT. New types of Hardy-Hilbert's integral inequality. *Gen Math Notes* 2011; 2: 111-118.
- [23] Sun B. A multiple Hilbert-type integral inequality with the best constant factor. *J Inequal Appl* 2007; 2007: 1-14.
- [24] Ullrich DC. A simple elementary proof of Hilbert's inequality. *Am Math Monthly* 2013; 120: 161-164.
- [25] Xu JS. Hardy-Hilbert's inequalities with two parameters. *Adv Math* 2007; 36: 63-76.
- [26] Yang BC. On Hilbert's integral inequality. *J Math Anal Appl* 1998; 220: 778-785.
- [27] Yang BC. A multiple Hardy-Hilbert integral inequality. *Chin Ann Math Ser A* 2003; 24: 743-750.
- [28] Yang BC. On the norm of an integral operator and applications. *J Math Anal Appl* 2006; 321: 182-192.
- [29] Yang BC. On the norm of a Hilbert's type linear operator and applications. *J Math Anal Appl* 2007; 325: 529-541.
- [30] Yang BC. *The Norm of Operator and Hilbert-Type Inequalities*. Beijing, China: Science Press, 2009.
- [31] Yang BC. *Hilbert-Type Integral Inequalities*. Sharjah, UAE: Bentham Science Publishers, 2009.
- [32] Yang BC, Krnić M. On the norm of a multi-dimensional Hilbert-type operator. *Sarajevo J Math* 2011; 7: 223-243.
- [33] Zhong WY, Yang BC. On a multiple Hilbert-type integral inequality with the symmetric kernel. *J Inequal Appl* 2007; 2007: 1-17.